Dividing Money (J)

—
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10.

Calculate each quotient.

66 ) $1118.70 2. 70) $2128.00 3. 67) $3544.30
76 ) $7387.20 5. 74) $5868.20 6. 49) $1222.55
22 ) $1051.60 8. 83) $942.05 9. 67 ) $5885.95

If 67 identical shirts cost $5252.80, how much did each shirt cost?
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Dividing Money (J) Answers

10.

$ 16.95

66 ) $1118.70
—$660.00
$458.70
—$396.00
$62.70
—$59.40
$3.30

—$3.30

$0.00

$ 97.20

76 ) $7387.20
—$6840.00

$547.20
~$532.00

$15.20
—$15.20

$0.00

$ 47.80

22 ) $1051.60
—$880.00

$171.60
—$154.00

$17.60
—$17.60

$0.00

Calculate each quotient.

$ 30.40

70 ) $2128.00
—$2100.00
$28.00
—$28.00
$0.00

$ 79.30

74 ) $5868.20
—$5180.00
$688.20
—3666.00
$22.20
—$22.20

$0.00

$ 11.35

83 ) $942.05
—$830.00

$112.05
—$83.00

$29.05
—$24.90

$4.15
—$4.15

$0.00

3.

9.

$ 52.90

67 ) $3544.30
—$3350.00

$194.30
—5134.00

$60.30
—$60.30

$0.00

$ 24.95

49 ) $1222.55
—§980.00

$242.55
~$196.00

$46.55
—$44.10

$2.45
—$2.45

$0.00

$ 87.85

67 ) $5885.95
—$5360.00

$525.95
—3$469.00

$56.95
—3$53.60

$3.35
—$3.35

$0.00

If 67 identical shirts cost $5252.80, how much did each shirt cost? $78.40
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